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The Characteristics of Dry Mater Production and Nitrogen Utilization
on the Indica-Type Rice Cultivar, Hokuriku193, under Reduced Chemical Fertilizer

and Green Manure Conditions in the Coastal Region of Fukushima Prefecture
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We analyzed productivity and the cause of Hokuriku193 an indica-type rice cultivar, in
the coastal region, Fukushima prefecture. In the result, Hokurikul93 shows a high yield
even in low chemical fertilizer conditions. It was because large crop growth rate, nitrogen
uptake, and physiological nitrogen use efficiency. In addition, the Tohoku region might
have become a suitable condition for indica-type rice cultivars due to climate change and
it might have showed high yield. On the other hand, the yield in green manure did not

differ from the no nitrogen condition.
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